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GENERAL KNOWLEDGE - GENERAL KNOWLEDGE

Question No.1 Marks: 1.00
Bookmark

Ginnorgarh Fort is located in which of the following places in Madhya Pradesh?
Pe=ikeTg foher 7eg weer 7 eafafaa 7 4 fFa v ) Raa g?
(A) O Indore
$eR
(B) O Gwalior
TR
(C) @ Bhopal (Correct Answer) (Chosen option)
#raTer
(D) O Jabalpur
ST

]

Question No.2 Marks: 1.00
Bookmark
Who was the first Indian recipient of the Ramon Magsaysay Award?

THeT HTUE WERR UIecl A aTel FUH HR Hlat A2
(A) O Jawaharlal Nehru
STATeYelTel oTel g ®
(B) O Mahatma Gandhi
HETCHT el
(C) @ Vinoba Bhave {Correct Answer) (Chosen option)
e s
(D) O R.K. Lakshman
. &. TEHT

Question No.3 Marks: 1.00
Bookmark

Mangal Pandey was a soldier in which of the following regiments?

Hater Ui, fAraATeli@d 7 ¥ forg Mo # At a7

(A) O s Royal Gurkha Rifle
59 Sferer ot T

(B) @ 34th Bengal Native Infantry (Correct Answer) (Chosen option)
347 gamrer e Fvamedt Y

(C) O Madras Light Cavalry
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HAGTH 5T ol (312a8=T)

(D) O 107t Bengal Infantry Regiment
1077 garrer 3T Moeie

Question No.4 Marks: 1.00

Bookmark
Dumbhal is the folk dance of which of the following places in India?

SAEA, AR H =TT TEd # & fohe T 1 ok 7Jca §7?

(A) @ Jammu and Kashmir (Correct Answer) (Chosen option)
ST+ 3T FeAR

(B) O Gujarat
IR

(C) O Assam
Kiear
(D) O Jharkhand

SIRYUs

Question No.5 Marks: 1.00

Bookmark
Who was the first Chief Justice of Independent India?

T HNA  Ugel HET AT SieT 472
(A) O Hon'ble Justice Sudhi Ranjan Das
(B) @ Hon'ble Justice Harilal Jekisundas Kania (Correct Answer) (Chosen option)
(C) O Hon'ble Justice M. Hidayatullah
AT =T IH[c T, fgeradedn
(D) O Hon'ble Justice Bijan Kumar Mukherjea
AT = FH[c Tt AR f@A

Question No.6 Marks: 1.00

Bookmark
Bharveli Mines is located in which of the following places in Madhya Pradesh?

A WeTe AT Weer 7 eaforiaa & 4 vy Tua T Rua §?
(A) ® Balaghat (Correct Answer) (Chosen option)
HTelTeHTT
(B) O Sagar
HETX
(C) O Satna
HdeT
(D) O Ujjain
3ooteT

Question No.7 Marks: 1.00
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Bookmark
Kodaikanal is a hill station located in which of the following states of India?
PIEGdhaTd AR o [Ftelidd # | ford ToT 7 Tud t fgor T g2
(A) O Maharashtra
HERTSC
(B) O Karnataka
Heilceh
(C) O Himachal Pradesh
AT e
(D) @ Tamil Nadu (Correct Answer) (Chosen option)
dfereang
Question No.8 Marks: 1.00
Bookmark
In which year did Madhya Pradesh become the 23 associate member underwings of
Hockey India?
FeauEyr, R v # grhr SRar o 237 Tl e e
(A) ® 2014 (Correct Answer) (Chosen option)
2014
(B) O 2010
2010
(C) O 2016
2016
(D) O 2018
2018
Question No.9 Marks: 1.00
Bookmark
Yaoshang festival is native to which of the following places in India?
T CAER R & AF=Afaeid T2m=t 7 3 fe 2T & oo fariast & aeafaa 2
(A) @ Manipur (Correct Answer) (Chosen option)
AR
(B) O Maharashtra
HERIST
(C) O Assam
aH
(D) O West Bengal
i F9TeT
Question No.10 Marks: 1.00
Bookmark
In which year was Neemuch declared as a separate district?
ST T Tohd a¥ 3 Teh 3ereT Totor aifle fohar rar am?
(A) O 1995
1995
(B) @ :11998 (Correct Answer) (Chosen option)
998
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(C)O 1999
1999

(D) O 1997
1997

Question No.11

Aadharkaanch village, known for the traditional 'Galsan Maala' of beads and inhabited
by Bhils and Bhilalas is in which of the following districts of Madhya Pradesh?

TR TG, AT FT IRINE ITelTeT AT F o ST STer § v $felt 317 efverems
CART ST 14T §| g I 7L Te20 F fAeafarad & & g o & g &2
(A) O Bhind
e
(B) O Dhar
315e

(C) Alirajpur (Correct Answer) (Chosen option)
ARTI

2

(D) O Satna
=T

Marks: 1.00

Bookmark

Question No.12

Who among the following is a known choreographer and educator of Indian classical
dance, known for his pioneering work in the field of Kathak, and a recipient of the Padma
Shri Award 2020 in the field of Art?

HRATT AR e & Ueh 918G AIRAIAT 3R RIe7eR fFieria # @ i §, S 2w &
& 7 37aroft & & forw St STy €, 31 el & 81 3 o Al QESR 2020 F WTechedl 82
(A) O Manohar Devadoss

AAG cIerd
(B) O Shashadhar Acharya

QRAER 3T
(C) @ Purushottam Dadheech (Correct Answer) (Chosen option)

TESTed arefier
(D) O Utsav Charan Das

3cHd TUT 1"

Marks: 1.00
Bookmark

Question No.13

In which of the following places do the Alaknanda and Bhagirathi rivers combine to form
Ganga?

fArafaf@a 7 O g TareT ot 31aesier 3T ameiel afe=t BAeet a9 sardr §7
(A) O Rudraprayag
BT
(B) O Rishikesh
E3LER
(C) O Haridwar
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gRear

~

(D) ® Devprayag (Correct Answer) (Chosen option)
&auamT

Question No.14 Marks: 1.00
Bookmark
Colliery Stadium is located in which of the following places in Madhya Pradesh?

Hiferad Tfeaw Avy g & Reafaif@a 7 O 7y v w RRud 872
(A) O Dewas
carg
(B) @ Birsinghpur (Correct Answer) (Chosen option)
dRfE
(C) O Dhar
310
(D) O Malwa
HTeldT

Question No.15 Marks: 1.00
Bookmark
Which company has bagged the award for Best Organization Contributing in Sports
Through CSR at the FICCI India Sports Awards 20207

fiherhr ST2aT TOICH 31aTsd 2020 F HICHHR & ATCTH T Tel 3 HAASS HToe PG h
fore ferer @ett T qrEehI e 67
(A) O Wipro Limited
ICEIRTITCE
(B) O Infosys Limited
SHITY feffies
(C) ® Tata Steel (Correct Answer) (Chosen option)
TIeT Tl

(D) O Reliance Industries

Question No.16 Marks: 1.00
Bookmark
Who among the following bagged the Lifetime Achievement Award at the FICCI India
Sports Awards 20207

fArafafad 7 & foraer ThaenT 3f3ar TICH 3@1SH 2020 # cIghesH AdaHc 3ars red
foram?
(A) O Sania Mirza
e AT
(B) O P.V.Sindhu
o o, faiey
(C) O Mithali Raj
[ECICIRE]

(D) @ Manjusha Kanwar (Correct Answer) (Chosen option)
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HoWT Ha

Question No.17 Marks: 1.00

Bookmark
Which state bagged the top rank under the category of 'UT and City-States' in the India
Innovation Index declared by NITI Aayog?

AT AT SaRT W HRA TR Gerhis H Bra T o ‘&g il wewr (I8 3R
E-TT (FAEI-Teeq) @1 Aol & oy w2 urea fpar?
(A) @ Delhi (Correct Answer) (Chosen option)
et
(B) O Daman and Diu
e AR &
(C) O Lakshadweep
e
(D) O Chandigarh
EECIE

[GENERAL HINDI - GENERAL HINDI |

Question No.1 Marks: 1.00
Bookmark

f&dr actel & raargar eafafed 7 @ e feufa 3 arfaarda: grewe vt far
ST 87

(A) O Tz ueet & o

B) O ot sycreiioren fomar & gt aw

€)@ gdwed AT # (Correct Answer) (Chosen option)

DO frar 3R el & orer

Question No.2 Marks: 1.00
Bookmark

855’ Ao 2reg FI SedaATaERT §-

(A) @ srzqa (Correct Answer) (Chosen option)
B) O a7

©0 gz

D) O seaar
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Question No.3
et Freg IfFaat & sia-ar 3rgerfa 3R 1 3gEIoT 872

(A) O forey war = gt ey T

(B) @ gewr ure A% v 7Y (Correct Answer) (Chosen option)
(©) O Feger @ 31faerr FFa

D) O ygamriardy

Marks: 1.00
Bookmark

Question No.4

i@mmarﬁﬁvwamwmﬁﬁq—%mm@ﬂmwml
(A) O frse
B)O Tve

€O g

D) ® w= (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.5

fora T # & vt &t fAera T it Ries & wieT 3 Siar 62
(A O &R @A

(B) O ggem a1 (Correct Answer)

(C) @ 3m=pivsma @ (Chosen option)

OO aghfs T

Marks: 1.00
Bookmark

Question No.6

I€ GA el [y Adaa H1
forgel 3aTer &1 A 11
98 Tl el [6g HAcleld &l
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3T T 2T & HIA 11
& 9 9fFa F wlT-ar g g7

A) O o
(B) O Fwurzgm
©C)® gxwm (Correct Answer) (Chosen option)

@O srerm

Question No.7 Marks: 1.00
Bookmark

FTAROT 2AeG; T Y e g -

(A) O seg+aror

(B) ® sg+amur (Correct Answer) (Chosen option)
©€)O zeg+ymor

() O sepvameer

Question No.8 Marks: 1.00
Bookmark

‘ST 9o [T T faehedl 7 & Ry o AT Tgerd &1 Hehell 67
(B) ® gHST (Correct Answer) (Chosen option)

©) O gorg

Question No.9 Marks: 1.00
Bookmark

“HTC-HTE T UT=AT U=l HETaR T FFIH HTE-
(A) O 3 ait & 10T e

B) O
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AT ST 9T
(C)O 35 afeat & ot O

D) ® garar a?ga-q'mg’lm (Correct Answer) (Chosen option)

Question No.10 Marks: 1.00
Bookmark

fehar TGl &1 I STt arel 9g Shgend -
(A) ® grreaeies (Chosen option)

B) O waesives

(€)O fyeror

D) O frar-fyeryor (Correct Answer)

Question No.11 Marks: 1.00
Bookmark

() O s

B) O =&y

©)® g (Correct Answer) (Chosen option)

D) O g

Question No.12 Marks: 1.00
Bookmark

Forratfofad # & - oeg &1 Tl UG 87
A O s

®) O sefafma

© O g

D) ® Ffss (Correct Answer) (Chosen option)
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Question No.13 Marks: 1.00
Bookmark

farafafld 7 & Sla-a1 v g el 7 Ag 767 &7
(A O gsreg g

B) O ot e

(C)O gheetradameT

(D) ® gqewe ad@m (Correct Answer) (Chosen option)

Question No.14 Marks: 1.00
Bookmark

©¢ # [AafAd quT I T4 oot 3 ToTT Tehedl USdT &, ST Tehel o TUTA I AT Fgd 67
(A) ® Zfy (Correct Answer) (Chosen option)

(B) O ug

©)O iy

©O g%

Question No.15 Marks: 1.00
Bookmark

TISEHIUT oh [T ST ST I TFIeT o ToIT U e, AT 872

(A) @ fagfa (Correct Answer) (Chosen option)
B) O fyegea
)0 ﬁlﬁ

D) O faarem

Question No.16 Marks: 1.00
Bookmark

AIGH-TIHAL A 3 PleT-HT ITH JIF 3T &7

(A) @ q1s¥ (Correct Answer) (Chosen option)
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B)O g

©) O aga

D) O or

Question No.17
il 7 O sla-ar ereg 312 @1 faadiads 82
(A) ® =fy (Correct Answer) (Chosen option)
B) O ey
€)O geg

D) O 36y

Marks: 1.00
Bookmark

(GENERAL ENGLISH - GENERAL ENGLISH

Question No.1

Fill in the blanks with the suitable tense in the given sentence:

The radio in 1948. As a result of this, both the size and the cost of electronic
equipment greatly reduced.

(A) @ was invented , have been (Correct Answer) (Chosen option)
(B) O had been invented , has been
(C) O was invented , have had

(D) O had invented , will be

Marks: 1.00
Bookmark

Question No.2

Fill in the blanks with the suitable tense in the given sentence:
Rohan's clothes are looking dirty because he the house all morning.
(A) O will have cleaning

(B) O will be cleaning

(C) O had been cleaned

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html
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Bookmark
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(D) @ has been cleaning (Correct Answer) (Chosen option)

Question No.3 Marks: 1.00

Bookmark
Choose the correct sequence of the sentences given below to construct a meaningful
paragraph.
i. They carry tiny pieces of a leaf to their nests.
ii. They also seem to be as intelligent as human beings.
iii. Ants, like bees, are very hard-working.
iv. On these beds grow a kind of food, which is the food of ants.
v. There they chew them up very nicely to make beds of chewed-up leaves.

(A) O v, v, iii, ii, i
B) O i,ii, v, iii, iv
(C) @ iii, ii, 1, v, iv (Correct Answer) (Chosen option)
(D) O i, iv, i, iii, v
Question No.4 Marks: 1.00
Bookmark
Choose the option that shows the correct change in voice for the given sentence:
Who taught you how to ride a bike?
(A) O By whom were you being taught to ride a bike?
(B) ® By whom have you been taught how to ride a bike? (Chosen option)
(C) O You were taught how to ride a bike by whom?
(D) O By whom were you taught how to ride a bike? (Correct Answer)
Question No.5 Marks: 1.00
Bookmark
Fill in the blank with the correct word in the given sentence:
The president with his wife _ just left for the global conference.
(A) O were
(B) O are

(C) ® has (Correct Answer) (Chosen option)

(D) O have
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Choose the option that best combines the given sentences.

This is a funny poem. It is about a man. He invited himself to a fox’s wedding.

(A) O This is a fun poem of a fox inviting himself to a man’s wedding.

(B) O This is a funny poem about a man who invited himself to a fox’s wedding.
{Correct Answer)

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html

Question No.6 Marks: 1.00
Bookmark
Fill in the blank with the correct determiner in the given sentence:
time and money is spent on education in Finland.
(A) O More
(B) @ Much {Correct Answer) (Chosen option)
(C) O Quite
(D) O Enough
Question No.7 Marks: 1.00
Bookmark
Out of the following, identify the incorrect sentence.
(A) Either of the alternatives seem to present major difficulties. (Correct
Answer) (Chosen option)
(B) O One of the cars in the garage is fifty years old.
(C) O Mitali's hair is long and black.
(D) O Sharon has six brothers.
Question No.8 Marks: 1.00
Bookmark
Fill in the blank with the correct conjunction in the given sentence:
Congratulations on your results!
(A) O outward
(B) O outspoken
(C) O outsmart
(D) @ outstanding (Correct Answer) (Chosen option)
Question No.9 Marks: 1.00
Bookmark
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(C) O This is a funny poem of a man who's invited himself to a fox’s wedding.
(D) ® This is a funny poem about a man who was invited to a fox’s wedding. (Chosen
option)
Question No.10 Marks: 1.00
Bookmark
Fill in the blank with the correct form of the verb in the given sentence:
I can't really stand in long queues.
(A) O waits
(B) O waited
(C) O wait
(D) @ waiting (Correct Answer) (Chosen option)
Question No.11 Marks: 1.00
Bookmark
Out of the following, choose the word with the incorrect spelling.
(A) O Played
(B) @ Acompaniment (Correct Answer) (Chosen option)
(C) O Performance
(D) O Interviewed
Question No.12 Marks: 1.00
Bookmark
Fill in the blanks with the suitable article in the given sentence:
British people are often polite. British people | know are very reserved.
(A) O The, the
(B) O No article, no article
(C) @ No article, the (Correct Answer) (Chosen option)
(D) O The, a
Question No.13 Marks: 1.00
Bookmark
Parts of the sentence have been underlined, choose carefully from the options below to
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improve the sentence structure:

If you fall ill, you will bring it out in yourself by going on a crash diet.

(A) O has brought off
(B) O has brought in
(C) @ bring it upon (Correct Answer) (Chosen option)

(D) O brought it upon

Question No.14 Marks: 1.00

Bookmark
Choose the option that best fills in the given sentence:

Let's have dinner outside, ?
(A) O willwe

(B) O should we

(C) O won't you

(D) @ shall we (Correct Answer) (Chosen option)

Question No.15 Marks: 1.00

Bookmark
Fill in the blank with a suitable preposition in the given sentence:

Samy should rewrite the introduction ___ her essay.
(A) O with

(B) O through

(C) O from

(D) @ of {Correct Answer) (Chosen option)

Question No.16 Marks: 1.00

Bookmark
Fill in the blanks with the suitable preposition in the given sentence:

We've neither been ____ the theatre, nor ___the cinema ___ along time.
(A) O with, at, for

(B) O on, to, at

(C) O at, with, on
mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html 15/62
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(D) ® to, to, for (Correct Answer) (Chosen option)

(GENERAL MATHS - GENERAL MATHS

Marks:
1.00

Bookmark

Question No.1

In fig. £M = AN = 46° express x in terms of a,b, c where a, b, c are the lengths of LM, MN,
and WK respectively?

M € b N ¢ < > K

HET H, M = LN=46° §layb,c & TG & x & o4& &Y =61 2, b, ¢ HAM: LM, MN
AT NE 61 sasar §2

M b PN S € K
A)® | ac

5+ c | (Correct Answer) (Chosen option)

ac
b+c

(B)O ab

b+c

ab
b+c

C)O 4

a+c

ac

a+c

DO)O ac
h+a

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html

16/62



2/18/2021 View Question Paper

ac
b+a

Question No.2 Marks: 1.00

Bookmark
What will be the length of the line segment if its projections on the x — axis, y — axis and
z— axis are 3, 4 and 12 respectively?

T x —3787, v - 37187 31 z - 3787 U W&IT (SNSRI FHALM: 3, 4 31T 12 g Y Twr @ Fr oiwrs
T g1
(A) O 3417
3417
B)O 5
5
(C) @ 13 (Correct Answer) (Chosen option)

Question No.3 Marks: 1.00

Bookmark
Solve the equation:

1 2 1
+

2
S S S —
4x 3y  2x 3¥
THTERIOT T &l Y
i 2
12,1 2
4x 3y 2x 3y
(A) O 20

_Y=?;}-‘ =.

=3

(B) O

() O

D)@

(Correct Answer) (Chosen option)

L)
I
-2

ot
I
+J

Question No.4 Marks: 1.00
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A dice is thrown once. Find the Probability of getting a number divisible by 27?
Th T Y U IR thedT ST | 2 & fAI1S gt arell T & 3 i wii¥iehar ard AfSAe

(A) @ 1/2 (Correct Answer) (Chosen option)
112

173
113

5/6
5/6

1/6
1/6

(B) O
©€) O
D) O

Bookmark

Question No.5

Find two numbers whose sum is 27 and product is 1827
&l HEATT ATl T Totetent AT 27 § 3R 0Tl 182 §?
(A) O 12,13

12,13

13,14 (Correct Answer) (Chosen option)

13,14

11,12

11,12

14,15
14,15

(B) ®
O

D) O

Marks: 1.00
Bookmark

Question No.6

If the sum of first three terms of a G.P is to the sum of the first six terms of same G.P is
as 125 :152. Find the common ratio of the G.P?

I forelt aqoiicart Aol & were et 9ef & I1er & AT oiica Aol & 9UaT o Tar & T
125 :152 §, AT J[0Teard A0 & ATH i1 AT Hifere?

(A) O 1/5
1/5

31/51
31/51

2/5
2/5

3/5 {(Correct Answer) (Chosen option)
3/5

(B) O
(€O

D)@

Marks: 1.00
Bookmark

Question No.7

Find the center O of the circle passing through the points P(4,6), Q(8,2) and R(8,6).
oo & Feg, O &1 AT Y, i1 [{eg3it P(4,6), Q(8,2) 31X R(8,6) & BIF It &

(A) @ (6,4) (Correct Answer) (Chosen option)
(6,4)

(B) O Ew;
(€)O (0,0)

(0,0)
(D)O (4.6)
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(4.6)
Question No.8 Marks: 1.00
Bookmark
Four circles ofradius 1 cm each is arranged as in the figure. Find the area of the square in
square cm.
N
N )
1 97 Brear ated F7C 99 T A1Ei H sAgiead AT 747 g1 T E SR, a9 §HT 7 g w4
~ R
N |
A O 2
2
B o 4
4
(C) @ 16 (Correct Answer) (Chosen option)
16
DO)O 8
8
Question No.9 Marks: 1.00
Bookmark
Find the median from the table balov-
0-10 10-20 2030 3040 40-30 30-60 60-70
4 1 7 10 12 g 3
el &1 98 T W WEOeRT T A
0-10 10-20 70-30 3040 30-50 50-60 60-70
El 1 7 10 12 8 3
(A) @ 40 (Correct Answer) (Chosen option)
40
(B)O 36
36
(©)O 38
38
(D)O 39
39
Question No.10 Marks: 1.00
Bookmark
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. =2 511,
h )
Matrix [1 4_][ 3 2] [2] is equal to

g e (120 S|01_ waw
(A) @ [22](Correct Answer) (Chosen option)
[22]

B)O [122]
[122]

(C©)O [11]
[11]
(D)O [23]
[23]

Question No.11 Marks: 1.00
Bookmark
If the n" term of an arithmetic progression is 7n-2 then its sum to n terms is:

IR v GATaR Ao &7 0 gg 7n-2 & &t s5% n et de @A i
A) O

é(?n?—ﬁn) (Correct Answer)

%(7n2+3n)

(B) O 7n2-2n
7n2-2n

©O L
3(711*—:2)

(D) ® 7n2-3n (Chosen option)
7n°-3n

Question No.12 Marks: 1.00

Bookmark
In how many years will Rs. 4000 amount to Rs. 5324 at 10%compound interest?

10% ®shg g aTsl 9T fenctel st & 4000 $UT ¥ 5324 T gl SATTT?
(A) @ 3 years (Correct Answer} (Chosen option)
39
B) O 2years
2 Hret
(C) O 2.5years
259
(D) O 3.5years
3.5 9Tl

Question No.13 Marks: 1.00
Bookmark
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If i—l—i—klzf,then find x.
s 7t 8 o

1 1 1 X
7«!%;'!‘;'5‘;—;,
(A) O 400

400

(B) @ 585 (Correct Answer) (Chosen option)
585

(C)O 505
505
(D) O 480
480

TT K TT Htl

Question No.14

The areas of two similar triangles are 144cm? and 196cm? respectively. If the longest
side of the smaller triangle is 24cm, then find the longest side of the larger triangle.

al FHEY TSI & &1l HAT: 144 A2 3 196 A2 §) A B Feger 1 Fadt w/dlt
37T 24 A ¥, A 73 FRger 1 T wilt S e o
(A) O 22cm
22 G
(B) O 24cm
24 TF
(C) ® 28cm (Correct Answer) (Chosen option)
28 ¥+
(D) O 26cm
26 9

Marks: 1.00
Bookmark

Question No.15

Rs.5390 is divided into three parts such that half of the first part, one- third part and one-
sixth of the third part are in the ratio 2:3:6. Find the third part.

5390 TYT &I TiIeT SR & 5T ThR [T IR 7147 & S8 7oF Ugel HT9T T 3TEIT HET, Th-
TAETS #11eT 3T e 19T 36T BST HI9T 2:3:6 % 3T A & | ST 19T AT fore|
(A) O Rs.290
990 T9T
(B) O Rs.1430
1430 T9T
(C) O Rs.440
440 39T
(D) @ Rs.3960 (Correct Answer) (Chosen option)
3960 TT

Marks: 1.00
Bookmark

Question No.16
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Marks: 1.00
Bookmark
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H+a H+ b

IfH is the Harmonic Mean between a and b, evaluate ,— =T .~

afe H, a3k b drr gucms A &, ar 28 4 Al T Hedice Hil

H—-a H-b
(A) @ 2 (Correct Answer) (Chosen option)
2

B)O 1
1

(C)O -2
2
Dyo o
0

[GENERAL SCIENCE - GENERAL SCIENCE |

Question No.1 Marks: 1.00

Bookmark
How many turns of Calvin cycle is required to produce 6 glucose molecules?

6 Te(ehlsT JUL3HT o Seutest & folt Shfcdst =@ & fohclel HIZ (ot T HTTRAH Bl 67
(A) O 42cycle
42 Ish
(B) O 6 cycle
6 Tsh
(C) O 30cycle
30 Tsh
(D) @ 36 cycle (Correct Answer) (Chosen option)
36 I

Question No.2 Marks: 1.00

Bookmark
Ampere's circuital law can be derived from:

AR & GRERHT (Fheer) foras 1 ¥ Gcoot AT ST Hebell |
(A) O Gauss's law
3 & A
(B) O Ohm's law
3eR & fAaH
(C) ® Biot -Savart law (Correct Answer) (Chosen option)
IrA-Aa¢ s
(D) O Coulomb's law
FHelTH & HaH

Question No.3 Marks: 1.00

Bookmark
A particle is performing a uniform circular motion. Which is the WRONG statement
regarding its motion?

Teh 0T UhHHATA ool Tl &L T6T & | SHRT AT o Tl H ITeret HUeT Hiol-a1 572

(A) O The acceleration vector is directed towards the center of the circle
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CIOT B, gl & Fog A1 AT ERT B

(B) O The velocity and acceleration vectors are perpendicular to each other
97 3R TaOT HIGLT, Ueh-gaY & ofedd g

(C) O The velocity vector is tangential to the circle
&er |, Ioct & T W B

(D) @ The acceleration vector is tangential to the circle (Correct Answer)
(Chosen option)

RO Wieer, goa & Tt W B

Question No.4 Marks: 1.00
Bookmark

Calculate the potential at a point P due to a charge of 4 x 1077 C located 9 cm away:
9 Y g FRUA 4 x 107 C & & HROT &g P W fawHa T 10Tt

(A)O 4V
4v

(B)O 40V
40V

(C) @ 4 x10%V (Correct Answer) (Chosen option)
4x10%Vv

D)YO 4x10°V
4x10%V

Question No.5 Marks: 1.00
Bookmark
Which enzyme catalyzes conversion of maltose into glucose?
IeT-HT USITSH, HIeCIol 3 Telehlol & FUIALT hl S il 67
(A) O Urease
TR

(B) O Invertase
geAacs

(C) ® Maltase (Correct Answer) (Chosen option)
AT

(D) O Diastase
TS

Question No.6 Marks: 1.00
Bookmark
HIV that causes AIDS, first start destroying which of the following cell?

TTHTEAT i USH T HROT FT1dT §, TGH Tgol TiFATol & 3 I Tohd ST I T5C el
Q& T 82
(A) O B-lymphocytes
A-foFmrageH
(B) @ Helper T-lymphocytes (Correct Answer) (Chosen option)
o & RFmTTEE

(C) O T-cytotoxic cells
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Sr-aTSeIe g shifART

(D) O Thrombocytes
diraraEeE

Question No.7

Which alcohol is used as a solvent in paint industries?
e 3eme 7 faeae & w9 7 FFE Jowied @ STAeT T STTdT 87
(A) @ Ethyl alcohol (Correct Answer) (Chosen option)
fde SHedhige
(B) O n-propyl alcchol
N-ATqTSel 3ehigel
(C) O iso-propyl alcohol
ITSEI-ATSe 3ohlee
(D) O Methyl alcohol
AT 3Tehigel

Marks: 1.00
Bookmark

Question No.8

Aew 9T Tr=ATaf@d & & 2re Y & 3o 919 & FHROT giar &2
(A) @ Thyroid Gland (Correct Answer) (Chosen option)
RIS A
(B) O Pancreas
IR
(C) O Adrenal Gland
3ffergereh Iy
(D) O Pituitary Gland
el a9

Graves disease is caused due to the hyper secretion of which of the following gland?

Marks: 1.00
Bookmark

Question No.9

similar conditions?

g7
(A) O Na*(aq) ion
Na*(aq) 3TIT
(B) O Li*(aq) ion
Li*(aq) 3T
(C) O K*(aq)ion
K*(aq) 31TaeT
(D) ® H*(aq) ion (Correct Answer) (Chosen option)
H*(aq) 3=t

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html

Which ion has more conductivity as compared to the conductivity of Rb*(aq) ion in

AT et # Rb*(aq) 31Tael &t dTelehdl T qoiall & fohe 3TaeT # 3178 Hrelehall Bl

Marks: 1.00
Bookmark
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Question No.10

Which of the following country has the highest bio-diversity?
farAfaf@a 7 & frg gr 7 ta-fafatrar a3 31fe g2
(A) O India
sf3ar
(B) O China
AT
(C) ® Brazil (Correct Answer) (Chosen option)
TSt
(D) O Russia
4

Marks: 1.00
Bookmark

Question No.11

Which among the following is NOT applicable in reducing the systematic errors?
FreAfa e & & i serag IR o T et 3 ST gt £7
(A) O Selecting better instruments.
AEAR 3TYHIUIT & TIT
(B) O Removing personal biases.
THTFAIT TETITT T G AT
(C) O Improving the experimental techniques.
TATIcHS deheiiehl 7 JUR

(D) @ Taking large number of measurements using the same instrument.
{Correct Answer) (Chosen option)

T &1 SUHIOT ST YA FHLF 931 TEIT 7 AT =T

Marks: 1.00
Bookmark

Question No.12

For the chemical reaction 3A|fgj = 2D|’3]= which is CORRECT relation between AH and AU
at TK temperature? ' '

3Ag = 2Dy Tramafas wfefeaT % o, TK avama oz AH #fiT AU & = 95 g9y
FIAT-HT 2P
(A) O AH=AU-3RT (Correct Answer)
AH = AU - 3RT
(B) O AH=AU-RT
AH=AU-RT
(C) O AH=AU
AH = AU
(D) ® AH=AU+RT (Chosen option)
AH =AU+ RT

Marks: 1.00
Bookmark

Question No.13
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Marks: 1.00
Bookmark
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Headquarter of Botanical Survey of India is at .
HREAT JoEatel TSETOT T F&ATed AT G
(A) O Pune

quy

2

(B) @ Howrah (Correct Answer) (Chosen option)
HCE

(C) O Bangalore
IR

(D) O New Delhi
5 e

Question No.14 Marks: 1.00

Bookmark
Three resistors of equal resistance ‘R’ is connected in parallel combination, if each
resistor of this combination dissipates 9R watt power from a DC supply. Find the total
current drawn from the supply?

AT YR ‘R’ & died 9ok TR it & gafad §, afe sa T3 &1 vads
wicRIErR Te ST 3qfcd A 9R are erferd 1 &fior & ST B1 &Y, 3nqfel & 3meRa e fagga
IR AT hITTT?
A)O 12A
12 TFdEY
B)O 3A
3 TFIRK
(C) ® 9 A (Correct Answer) (Chosen opticn)
9 TFIRR
DYO 6A
6 TFIRR

Question No.15 Marks: 1.00

Bookmark
In five kingdom classification, Monera is sub divided into which of the following?

a7l ST FRfTeRioT H, A &l eaifaiad 7 & s gidentora faaar srar g2
(A) O Mycoplasma and Archaebacteria
HTSRITATTHT R IehereIRar
(B) O Blue Green Algae and Archeabacteria
aa T ST 3R IR
(C) O Cynobacteria and Eubacteria
AR 3R gdFRRET

(D) ® Eubacteria and Archaebacteria (Correct Answer) (Chosen option)

TR 3 AR

Question No.16 Marks: 1.00

Bookmark
How many carbon atoms are present in a molecule of sodium stearate?

TITSTH TN & Ueh 3] H fheled PreieT AT Hiole gl 87
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(A) @ 18 (Correct Answer) (Chosen option)
18

(B) O 16
16

(C)O 17
17

(D)O 19
19

Question No.17

Benzaldehyde is produced from benzoyl chloride by hydrogenation in presence of Pd-
BaS0y, , this reaction is known as:

JoifeggTss T 3cUIee dealldel FARISS A §ISaIalaileiUl GdRT Pd-BaSO, &1 3ufeyfa
farar SITa §, 30 1A f3Rar 1 fRest YR & ST 71T §:
(A) O Gattermann-Koch reaction
IMIHA-hg HTATRAT
(B) O Stephen reaction
a1 AT
(C) O Etard reaction
gers fAfeRar
(D) ® Rosenmund reduction {(Correct Answer) (Chosen option)

NSTTHUS HT=qT

Marks: 1.00

Bookmark

GENERAL APTITUDE - GENERAL APTITUDE

Question No.1

A man purchased a scooter for Rs.30000, spent x % of the cost price on repairs and
sold the scooter for Rs.40000 there by getting a profit of 25%. Find the value of x.

Teh 3MTE#T = 30000 YT 3 Fehed TS, AXFHT U 5 FHod T x% T fohar 31 25% T

oITST SITST Y §U TR T 40000 F9T 3 T & x T AT ATl |
(A) O 20%
20%
(B) O 5.5%
5.5%
(C)O 10%
10%
(D) ® 6.66% (Correct Answer) (Chosen option)
6.66%

Marks: 1.00
Bookmark

Question No.2

The respective ratio of Ram’'s age and his son’'s age is 5:4 and the product of their ages
is 320. The ratio of their ages after 6 years will be:

T T 311 T Iefeh T hT 31 & T 31T 5:4 § 3 3eTehr 317 1 I0TeAher 320 B 6
aY 3 1S 3eTehT 31T AT =TI B9

(A)O 11:13
11:13

O
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Marks: 1.00
Bookmark

27/62



2/18/2021 View Question Paper

(B) 10:13
10:13
©)O 13:10
13:10
(D) @ 13 :11 (Correct Answer) (Chosen option)
13: 11
Question No.3 Marks: 1.00
Bookmark
Ifa:b=cid=25:1.5, then what is the value of (a + ¢) : (b + d)?
Iigab=c:d=25:15,dl(a+c): (b +d)H AT FIT§EM?
A)O 3
5
3
5
B
B e (Correct Answer) (Chosen option)
5
3
©0O 3
4
3
4
D)YO 4
5
4
5
Question No.4 Marks: 1.00
Bookmark
W\ - i .
Simplify 2x<3x " ,ifx =4,
14 _
2x%3x 7 @ WA W, TG x=4 gl
(A)O 4
4
(B) ® 3 (Correct Answer) (Chosen option)
3
(C)O 5
5
(D)O 2
2
Question No.5 Marks: 1.00
Bookmark
A basket contains 9 red, 2 black, and 3 white balls. If 2 balls are drawn at random from
the basket, what is the probability that both are red?
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(A O 13
36
13
36
B)O o1

21

36

View Question Paper

Teh SR H 9 oITeT, 2 FTail 3T 3 Thg TTHRIC e g IR 2 IS e IR a o
feprely ST &1 ar =7 wiRierar & & aia 3¢ ot 87

36

C)® |36

91

(Correct Answer) (Chosen option)

36

91

D)O 36

13
36

13

2,3,8,26,1

2,3,8,26,1

26

B)O 3
3

(€O 8
8

D)0 112
112

Question No.6

The series given below contains a sequence of numbers. Accordingly identify the
INCORRECT combination.

12

oAl &Y 1S Y@ H HEATHI BT Ueh 3Hefshd £ | TCTHR e TIoTal bl Tgele] |

12

(A) @ 26 (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

163

(B) O 162
162

Question No.7

Find the average of the following set of numbers:
123, 42, 154,

362, 134

fArafalad aEansit & de & 3iad & 71a F&
123, 42, 154,
(A) @ 163 (Correct Answer) (Chosen option)

362, 134

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html

Marks: 1.00
Bookmark
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(C)O 160
160

(D) O 166
166

Question No.8 Marks: 1.00
Bookmark
If in a certain code PERFECT is written as NCPDCAR, then how will MISHRA be written
in the same code?

Ife v fAfRaa 15 #, PERFECT &I NCPDCAR & ®U H fo@r sirar g, ar gd=T s &

MISHRA =1 && for@r sreamm?

(A) O PYGQFK
PYGQFK

(B) O KFQGPY
KFQGPY

(C) O KQGFPY
KQGFPY

(D) @ KGQFPY (Correct Answer) (Chosen option)
KGQFPY

Question No.9 Marks: 1.00
Bookmark
Two numbers are in the ratio 1:2. If 7 is added to both the numbers then the ratio
changes to 3:5. Which is the greater number?

ar HEATE 1:2 & 3e[areT A § | A 7 7 &1t HAr3it 7 st Siar & A 3eq9rd 3:5 F aad
ST & | T 931 T&IT Shid-4T 872

(A) @ 28 (Correct Answer) (Chosen option)
28

(B) O 42
42

(C)O 36
36

D)O 24
24

Question No.10 Marks: 1.00
Bookmark
If C.P is Rs. 10,000 and S.P is Rs. 15,000. Find the profit percent?

e T Hed 10,000 T iR TEHT Fer 15,000 TUT §| AT SaTeh! 1T Ticrerel 7T &3?
(A) O 40%
40%
(B) O 30%
30%
(C)O 60%
60%
(D) ®@ 50% (Correct Answer) (Chosen option)
50%

Question No.11 Marks: 1.00
Bookmark

Complete the series choosing the missing letter/s:
mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html 30/62




2/18/2021 View Question Paper
AZ, Gl, ,SH, YB.

o[ HETY/3TET T e Pl §U ATl T I
AZ Gl ,SH,YB.
(A) @ MN (Correct Answer) (Chosen option)
MN
(B) O BA
BA
(C)O AB
AB
(D) O NM
NM

Question No.12 Marks: 1.00

Bookmark
Rajeev riding his bicycle covers 750 meters in 1 minute and 15 seconds (75 seconds).
What is his speed in km/ hour?

M 39T Hgfehel i HARY ek 1 TA-Te 3R 15 @3 (75 @hs) A 750 HeT T gl g
AT & | 3T A1 fepeflyere & ar &7
(A) O 32 kmthr
32 fepeee
(B) O 40 km/hr
40 fraY/Ee
(C) O 30 km/hr
30 frevEe
(D) ®@ 36 km/hr (Correct Answer) (Chosen option)
36 frevEe

Question No.13 Marks: 1.00

Bookmark
‘X’ and 'Y’ together can complete a piece of work in 15 days and ‘Y’ alone in 20 days. In
how many days can ‘X’ alone complete the work?

X' 3R Y’ U T I Teh A1 15 T 7 3R Y’ 20 & A 3rehel 38 SR 1 G T Heell
g1 X’ 3ot forcter AT 1 Y &1 X &°T Heram 87
(A) O

B .
®)® * days| (Correct Answer) (Chosen option)

(€O

D) O
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1

— days

70

1
T—Oﬁ?f

Question No.14

Complete the series choosing the missing number:
20, 25, 35,50, 70, ___,

Qﬁrmwmaﬂﬁ?ﬁ@maﬁwaﬁ:
20, 25, 35, 50, 70,
(A) O 90

90

(B) O 92
92

(C©)O 93
93

(D) ® 95 (Correct Answer) (Chosen option)
95

Marks: 1.00
Bookmark

Question No.15

If the code of 64958 is 53847, then what will be the code of 626547
TTe; 64958 T s 53847 &, T 62654 T IS T BIIMT?

(A) ® 51543 (Correct Answer) (Chosen option)
51543

(B) O 54513
54513

(C)O 31545
31545

(D) O 54315
54315

Marks: 1.00
Bookmark

Question No.16

then the average of last two numbers is:

&1 AT &

(A) O 145
145

(B) O 290
290

(C) ® 195 (Correct Answer) (Chosen option)
195

(DYO 265
265

The sum of 5 numbers is 555. The average of the first two is 25 and third number is 115,

5 TEAT3IT T ATT 555 §1 Gger ar o 3iad 25 & 3R a8 g&ar 115 &, ar 3ifae ar gean3i

Marks: 1.00
Bookmark

Question No.17
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Marks: 1.00
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Bookmark
81 % of the students in a school are boys. If the number of girls is 228, then the total
number of studentsis ___.

U Tl H 81% OTF A & | Afe oTsfohal 1 T&Am 228 §, A o=l Fr v T ___ T

(A) O 1000
1000

(8) O 1300
1300
(C)O 1400
1400

(D) @ 1200 (Correct Answer) (Chosen option)
1200

[RAEO - RAEO ]

Question No.1 Marks: 1.00
Bookmark
variety of mango is suitable for high density planting.

ToEa ol 31TH, 3T TeTed aTel AYUT & fIT 3UgFd T 5|

(A) O Dasheri

Gl
(B) @ Amrapali (Correct Answer) (Chosen option)

HTHYTT
(C) O Himsagar

TRHATTR
(D) O Chausa

@tar

Question No.2 Marks: 1.00
Bookmark
JS 335 and JS 93-05 are high yielding popular varieties of:

JS 335 3fIT JS 93-05 &1 37 YTaR el o foreH &
(A) O Sorghum
TRT AT ARETH
(B) O Sugarcane
el
(C) O Wheat

g

(D) ®@ Soybean (Correct Answer) (Chosen option)
R IoIcic)

Question No.3 Marks: 1.00
Bookmark
The seed rate of irrigated coriander crop is kg/ha.

RiTg ufFar vaa Frderex foram/gFeTR BT &1

(A) O 20-22
20-22

(B) ® 10-12 (Correct Answer) (Chosen option)
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1012

(C)O 3-5
3-5

D)O 6-8
6-8

Question No.4 Marks: 1.00
Bookmark

Price theory is a branch of
e fagia T T QT
(A) O public finance
dlieh faed
(B) @ micro-economics (Correct Answer) (Chosen option)
AT (ATgeHT) rdeare
(C) O Marketing
TaquTer

(D) O macro-economics

gafee (HFeh) srdemre

Question No.5 Marks: 1.00
Bookmark

Plant loses water in transpiration up to the extent of

oler FT AT T arsdicH el H TTell @ & g
(A O 70%
70%
(B) O 80%
80%
(C)O 85%
85%
(D) @ 99% (Correct Answer) (Chosen option)
99%

Question No.6 Marks: 1.00
Bookmark

Which of the following element is required by plants for uptake and utilization of calcium
and carbohydrate translocation?

AT 3 | FIa-8 deg & 3ae3ehdr, iyl garT Hfove# AR wEiEege &
IRl & 3erguT 3 39T g Bl 872
(A) O Selenium
EIDEE
(B) O Manganese
Hareftsr
(C) ® Boron (Correct Answer) (Chosen option)
Cing)
(D) O Chlorine
Fol el
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Question No.7 Marks: 1.00
Bookmark
Which of the following is the Primary demerit of Shifting cultivation?
fAF=ATITE 7 & hle-AT S Y S TS Iaa[or 57
(A) @ Soil erosion (Correct Answer) (Chosen option)
AT ARG
(B) O Climate change
Sforarg aREee
(C) O Soil nutrients loss
FeT & YIveh deal el gife
(D) O Soil structure loss
ST T HTAT H T
Question No.8 Marks: 1.00
Bookmark
is the Primary Institution of Society.
AT &1 grafie dear g gl
(A) O Block
ECES
(B) O District
Srer
(C) ® Family (Correct Answer) (Chosen option)
IRER
(D) O Village
aa
Question No.9 Marks: 1.00
Bookmark
Soil mulching is done to:
2T 1 AfedeT 3 v Hr e g:
(A) O Encourage evaporation
ATSYROT I FiedTied LT
(B) O Encourage weed growth
TGN qig T AcaTieed el
(C) O Reduce soil fertility
THEY 1 35T A AT
(D) ®@ Conserve soil moisture (Correct Answer) (Chosen option)
2T 1 7T T T B
Question No.10 Marks: 1.00
Bookmark

Pheromone trap is used to control :
BT ST T STJNET I AT FT & forw foFam ST &1
(A) O caterpillar

IR
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(B) O female bugs
HIET Fhre
(C) O female moths
EICUERE)
(D) ® male moths (Correct Answer) (Chosen option)

T I

Question No.11 Marks: 1.00

Bookmark
The programme related with training of rural youths is:

AT a3t S GRIGTOT | Feferd e foreet §:

(A) @ TRYSEM (Correct Answer) (Chosen option)
SHATETASTH

(B) O DAY-NRLM
3-TARTAUH

(C) O DPAP
Brdrody

(D) O PMAY-G

froATas-sir

Question No.12 Marks: 1.00

Bookmark
Which of the following is the important staple food crop of India?

AR T e o Tld 7 § ler-Th Hgeayv! er= Teg HHe g2
(A) ® Rice (Correct Answer) (Chosen option)
idel
(B) O Maize
HerehT
(C) O Sorghum
TRT AT AREH
(D) O Wheat

Question No.13 Marks: 1.00
Bookmark

Which state has the highest percentage of irrigated area in India?
9Ra F RART &7 1 gaias giaerd g T F 82
(A) O Madhya Pradesh
HET T2
(B) ® Punjab (Correct Answer) (Chosen option)
LTIy
(C) O Gujarat
Ied

S
(D) O Maharashtra
HERISg
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Question No.14 Marks: 1.00
Bookmark
Which one of the following is the Principle of Extension Education?

frafaiad # & Fia-ar farany (veacee) e &1 f&agid §7?
(A) Learning by doing (Correct Answer) (Chosen option)
e e (afeer are g5
(B) O Learning by hearing
SqoT 3T (SAfeeT ST Er31ReT)
(C) O Learning by seeing
e arferme (fefer e g
(D) O Learning by reading
& 37T (Afeter arw $ifEam)

Question No.15 Marks: 1.00
Bookmark

What is the seed rate of Tomato during transplanting?
AITS (STATAITEaT) F ERTeT eHTe T sYeT ST FAT BT 87
(A) O 100 to 200 g per hac
100 & 200 IH i geFeaT
(B) ® 400 to 500 g per hac (Correct Answer) (Chosen option)
400 ¥ 500 I 9fd gFAXT
(C) O 200 to 300 g per hac
200 ¥ 300 ATH Yid geFeay
(D) O 800 to 1000 g per hac
600 I 1000 ITH If AT

Question No.16 Marks: 1.00
Bookmark
Which one of the following states of India has the most suitable climatic conditions for
the cultivation of a large variety and different types of orchids?

HRA & fArafaf@d & 3 fora U= 7 ve faem fafaerar ik fafdes g & 3ififes &
el & forT Fad 39 Sterary 9 RRafaar §7
(A) O Madhya Pradesh
HET TG 2m
(B) O Uttar Pradesh
3ecR He2T
(C) O West Bengal
qidH Farrel
(D) ® Arunachal Pradesh (Correct Answer) (Chosen option)
ST g&er

Question No.17 Marks: 1.00
Bookmark
Agricultural Price Support Policy of the Government mainly aims to benefit:
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TR T I Hed T Aifcl 1 F&I T 4 367 9 amy 2= ¢
(A) O Government
IR
(B) O Middleman
[EEIEL
(C) ® Farmers and consumers (Correct Answer) (Chosen option)
et 3T e
(D) O Industrialist
Segerafd

~

Question No.18 Marks: 1.00

Bookmark
Optimizing the use of farm resources on an individual farm level is referred as:

SATFIT HIY T T BT HHILAT & ST T IeJeholcdH Fallall el & H Hafod fhar
AT §:
(A) @ Macroeconomics (Chosen option)
TATSE 3TAART (Hehl ShiATHF)
(B) O Agricultural marketing
S faqore
(C) © Farm management (Correct Answer)
T vaUeT
(D) O Production economics
ERSICO R

Question No.19 Marks: 1.00

Bookmark
Germplasm theory was proposed by .

STeeged (STcee) g EaRT EATIAd foRaT a7 ATl
(A) O Phillips
Thfece

(B) @ Weismann (Correct Answer) (Chosen option)
argerde

(C) O Mendel
Hea

(D) O Darwin
FifaeT

Question No.20 Marks: 1.00

Bookmark
When a plant part undergoes senescence, the nutrients may be:

TS e T T fEEaT SoTdr & gleht ol &, ol Toeh ded
(A) O Oozed out from the senescent part

St e & S AT 2 S5t # Tfea

(B) O Leached out from the senescent part

e aEhd B
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ST ffEd § e

(C) O Accumulated in senescent part
St feee & g

(D) @ Translocated from the senescent part to other parts (Correct Answer)
(Chosen option)

St ey 9 g Ry o e

Question No.21 Marks: 1.00

Bookmark
India is the largest producer as well as consumer of in world.

AR gferar 7 T HH 3T 3cUTgeh 3 STHTer g
(A) @ pulses (Correct Answer) (Chosen option)
grel
(B) O wheat
L
(C) O rice
dTdel
(D) O sugarcane
oedl

Question No.22 Marks: 1.00

Bookmark
Which one of the following fertilizers does NOT contain nitrogen?

PfaRd & Rre 38 # Isgiei 78 8T &2
(A) ® MOP (Correct Answer) (Chosen option)
THICY
(B) O Urea
giREr

o

(C) O Ammonium sulphate
HANATH Hothe

(D) O DAP
Ejlus)

Question No.23 Marks: 1.00

Bookmark
In India, Crganic cultivation of vegetables will get amount of loan.

T 7, Tfestar & Sifaes Wt #r 7gor &r TR Ao BIeiT|
(A) O 20000 per hac
20000 e geFeax
(B) @ 10000 per hac (Correct Answer) (Chosen option)
10000 Ffer g
(C) O 5000 per hac
5000 9T gFeaT
(D) O 50000 per hac
50000 Hid eI
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Question No.24

Which of the following is the largest fruit producing state in India, in 20207
fArafaf@a & O &l 2020 7 RT3 T4 F27 T 3cEH T 72
(A) ® Andhra Pradesh (Correct Answer) (Chosen option)
37T ST
(B) O Punjab
qTer
(C) O Madhya Pradesh
qET TS
(D) O Gujarat
IeNId

2

Marks: 1.00
Bookmark

Question No.25

pF value is a measure of
dTu AT I Teh AT9A g
(A) O soil temperature
Y 1 AT
(B) O soil aeration
[GHEIGINGE
(C) ® soil moisture (Correct Answer) (Chosen option)
EHEI I
(D) O soil alkalinity
THET T ARar

Marks: 1.00
Bookmark

Question No.26

can sustainably enhance the nutrient content of the soil.

_ THEYr hr O Gl T eTaR 9T 99T B
(A) ® Compost (Correct Answer) (Chosen option)

ECI [
(B) O Sand

o]
(C) O Commercial fertilizer

oo as 393
(D) O Fresh animal dung

QISIEH I

Marks: 1.00
Bookmark

Question No.27

IPS-147-1 grown in Madhya Pradesh is a variety of .
HEI Y& H 3T AT arer IPS-147-1, &1 T REA B
(A) @ kodo (Correct Answer) (Chosen option)
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Bookmark
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FIar
(B) O bajra
dTaNT
(C) O ragi
T
(D) O sanwa
HleTdr

Question No.28 Marks: 1.00
Bookmark
Which of the following day is celebrated as National Farmers’ Day?

fArATaT&T A A org et st U fopdTe f&ad & 9 & AT S1ar g7
(A) O 16th October
16 IR
(B) O 5t June
5 ofef
(C) @ 23rd pecember (Correct Answer) (Chosen option)
23 REaY

(D) O 23 March
23 AT

Question No.29 Marks: 1.00
Bookmark
is the most commonly used propagation method in case of rose.

T[elTel & HIHS H Ha I Teeh SEAATCT 1 STe ATell FEN (F191erT) fafer g

(A) O Air layering

W olIaT
(B) @ Budding (Correct Answer) (Chosen opticon)

CIED)
(C) O Seeding

T
(D) O Tissue culture

e Femx

Question No.30 Marks: 1.00
Bookmark
is a widely used mitotic inhibitor for the induction of polyploidy in plants.

ot 3 SEfoTe 3 9R0T & fAIT SaTae 9 A FEIATS fohaT S aren
Acifed Haus ¢l

(A) @ Colchicine (Correct Answer) (Chosen option)
Frafafae

(B) O IAA
(C) O Ethylene
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lUBEIC)

(D) O Ozone
3Tl

Question No.31 Marks: 1.00
Bookmark
In which year “Grow more food campaign” was launched?

fonar a & “31TIeh 3fot ST 31T3gTeT” & fomar aram ar?

(A) O 1956
1956

(B) O 1963
1963

(C)O 1972
1972

(D) ® 1948 (Correct Answer) (Chosen option)
1948

Question No.32 Marks: 1.00
Bookmark

SGSY is a program for the promotion of:

THSUEdTS F YO P [T T FAHA L

(A) @ Self-employment (Correct Answer) (Chosen option)
TSR

(B) O Infrastructure development
T e

(C) O Community development
HHGTRID [

(D) O Wage employment

HoTedl TSI

Question No.33 Marks: 1.00
Bookmark
The M.P. State Agricultural Marketing Board (Mandi Board) has come into existence in
the year .
AL W2 U FiY [quore aig (A3t <) ay H 3Tedca # ART |
(A) O 1980
1980

(B) O 1970
1970

(C) ® 1973 (Correct Answer) (Chosen option)
1973

(D) O 1983
1983

Question No.34 Marks: 1.00
Bookmark
The nutrients without which the plant is unable to complete its life cycle are called
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ToTeT s Tcat & =T G 379 Sidst e O el & 310A §Iem §, 3o¢
g STl &
(A) O Micro-nutrients
A 9IYE ded
(B) O Macro-nutrients
AFI-UNF ded
<) Essential nutrients (Correct Answer) (Chosen option)
HTIRTF U ded

(D) O Beneficial nutrients
ATHART GIeh dod

Question No.35 Marks: 1.00

Bookmark
Study of agronomy dealing with the relationship of yield to the quantity of an added or
available fertilizer element is called

TR T 3T 33T ded Sl ATAT ¥ 3UST o el Figd ST et el TAATHT &l 3TETTT

gl SiTell &
(A) @ Agrobiology (Correct Answer) (Chosen option)
LDICIBICIE ||
(B) O Agrology
iy fa=ire
(C) O Soail fertility
THEY & 3a%ar
(D) O Soil productivity
IEHE kLI CET)

Question No.36 Marks: 1.00

Bookmark
For better crop production are important steps of proper land
preparation.

JEX B 3cdlee & forg, HIA 1 3 I & AgeaqoT =T §
(A) O loosening and scraping of soil
faET o1 SreraeT (effian) 3R =T (EhTHar)
(B) @ turning and loosening of soil (Correct Answer) (Chosen option)
gt 1 #rga (efefan) 3R e = (spfeie)
(C) O deep ploughing of sail
GEEIRSUS T
(D) O weeding and sowing

[GRERI N CIES

Question No.37 Marks: 1.00

Bookmark
nutrient deficiency causes chlorosis in older leaves of plants.

A a2 bt el B Qe afeerait 3 eI g ST 31
(A) O Calcium
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Fiorad

(B) ®@ Magnesium (Correct Answer) (Chosen option)
HeiifrreT

(C) O Sodium
aifsTH

(D) O Nitrogen
STTSeTSTeT

Question No.38 Marks: 1.00

Bookmark
The increased performance of F4 hybrid over its parents is called

T Sefeh (HTH) & gt Fq TR HT a0 Jaied FHEeldT ¢ |
(A) O dominance
AT (STHAT)
(B) @ heterosis (Correct Answer) (Chosen option)
L JteT (Feia)
(C) O crossing over
St fafeiarar (shIfar 3iar)
(D) O inbreeding
FHel:HSTeled (SAsISaT)

Question No.39 Marks: 1.00
Bookmark
Soil erosion can be checked/controlled by .

T Gt 1 Sita/fer=oT CART TR ST HeeTl B
(A) O deforestation
AT ol el
(B) O overgrazing
TS (AT
(C) @ vegetative cover (Correct Answer) (Chosen option)
AT 3TaTor

(D) O over-irrigation

3tfers g

Question No.40 Marks: 1.00

Bookmark
The new Agricultural Policy was established in

% iy ahfer A T 915 2|

(A) O 2005
2005

(B) O 2010
2010

(C)O 2008
2008

(D) @ 2000 (Correct Answer) (Chosen option)
2000
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Question No.41 Marks: 1.00

Bookmark
Which of the following is the Fruit Ripening hormone?

fAFAfaf@d 7 A FlA-AT Tl Tl arell gTAlT &2
(A) O Gibberellins
o foreT
(B) @ Ethylene (Correct Answer) (Chosen option)
B EIC
(C) O Cytokinin
arsei e
(D) O Abscisic acid
TTeH & 3Fel

Question No.42 Marks: 1.00

Bookmark
When | develop feeling that "The culture | accept and follow is superior to others", | am:

19 # 30 $1aAT i fashTic e § foh “H Tore Tepict T TiehR dell § 31 35
ITEOT AT ¢ I GEI T g &7, H &
(A) @ Culture centric (Chosen option})
HEpid Sicad
(B) O Ethnocentric (Correct Answer)
Horfashigd (vadfes)
(C) O Sociocentric
HHTS gl
(D) O Geocentric
Henfad (Forandieen)

[N

Question No.43 Marks: 1.00

Bookmark
The branch of agriculture which deals with garden crop is referred as:

Y T a5 AT Sl 3T FHer A FIfET g, 39 gl SATAT & |
(A) O Agronomy
THATAT
(B) @ Horticulture (Correct Answer) (Chosen option)
gifésoaR
(C) O Entomology
et
(D) O Pathology
LRICIc)

Question No.44 Marks: 1.00

Bookmark
NARS stands for:
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TSR &7 37§
(A) O National Agricultural Research Stream
e Tafieee RET T
(B) O National Agricultural Review System
Aol Tfiehe’ Reyg fvesn
(C) O National Ayurvedic Research System
wAereTel dfee e eea
(D) ® National Agricultural Research System (Correct Answer) (Chosen option)

A Ty AT RTed

Question No.45

People’s participation in an extension program is significant when:

forear srera 3 witett 1 srmefierdy Fgeaol gid & o

(A) O Local leaders participate
AT AT HIT A &

(B) @ Majority of villagers participate (Correct Answer) (Chosen option)
JrfRrenier ATHOT AT A 2

(C) O Gram panchayat members participate
ATH YT HEEd H9T o &

(D) O Literate section of villagers’ participates

ATHIUTT & HIER W3 AT oI ¢

Marks: 1.00
Bookmark

Question No.46

The Kisan Credit Card (KCC) Scheme was launched in the year
foraTeT hf3T &S (FETE) AT HF gy Q& TR I |

(A) ®@ 1998 (Correct Answer) (Chosen option)
1998

(B) O 1988
1988
(C)O 1971
1971

(D) O 1956
1956

Marks: 1.00
Bookmark

Question No.47

There are Agro-climatic zones in Madhya Pradesh.
e gerar 7 FHTV-STeTar] &7 £

(A)O 18
18

B)O 15
15

(C)O 8
8

(D) ® 11 (Correct Answer) (Chosen option)
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Question No.48 Marks: 1.00
Bookmark

Which of the following is the CORRECT sequence of soil-water erosion?

frAfafEa 7 & wla-ar HE-ure 379es #T Hel Hehe g2

(A) O Deposition-Detachment-Absorption
faTquT-faereTet-3raeivoT

(B) ® Transportation-Detachment- Deposition (Chosen option)
IRagA-TdeeTA-faTgur

(C) O Detachment-Transportation- Deposition (Correct Answer)
e -afRaga-faatgor

(D) O Deposition-Detachment-Transportation
fAgqur-facera-aiag

Question No.49 Marks: 1.00
Bookmark

Which of the following amino acid is the precursor for auxin biosynthesis?
frafaf@d & & Sia-ar 3fA=T 3w, 3fifFas TfEAfEa o1 ey &2
(A) @ Tryptophan (Correct Answer) (Chosen option)

ETCeTE
(B) O Histidine

feeed=
(C) O Arginine

ENEEi)
(D) O Glutamine

L o8

Question No.50 Marks: 1.00
Bookmark

The process of entry of water into soil from earth surface is referred as:
gt S Hefg & TAET 7 arel & vaer iy ufgsar vt & w0 7 weffia ¢
(A) O Leaching

ClEC
(B) @ Infiltration (Correct Answer) (Chosen option)

TG
(C) O Percolation

3T TFAIT (REBTEIR)
(D) O Seepage

I

Question No.51 Marks: 1.00
Bookmark

The field capacity of soil is usually considered to be at pF=

fAEY T 87 87T &l ITHAR W pF = HIAT ST &
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(A) O
(B) O
€0

D)@
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3.5
3.5

20
20

4.5
4.5

2.5 (Correct Answer) (Chosen option)
25

(A) O

(B)®

€O

(D) O

Question No.52

Which part of root absorbs water and minerals?

STE T SHieT-TT B e IreT 3R @iaat & 3aiia sear £7

Root cap

¢ &Y

Root hairs (Correct Answer) (Chosen option)
e g

Epidermis

[UEEIE )

Endodermis

wErsfaa

Marks: 1.00
Bookmark

(A) O

B) O

(€O

(D) ®

Question No.53

Which of the following is NOT matched correctly?
T 7 & Sl T8 ST A AT AT WA 872

Zaid crop - Green gram

SIS, hi el - BT <=l

Rabi crop — Wheat

Y&t 1 HEe — g

Kharif crop — Rice

T T HHT — ATl

Summer crop — Potato (Correct Answer) (Chosen option)

AreAamTelleT BHe — 3T

Marks: 1.00
Bookmark

(A) O

(B) O

©)®

D) O

Microorganisms having highest biomass in normal soil is

A TAE H Had 31f8e SrAry are geAsia g gl

Question No.54

algae
arer

bacteria

Siraror

2

fungi (Correct Answer) (Chosen option)
Sdeh

actinomycetes
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TiFeAHAITH

Question No.55 Marks: 1.00
Bookmark
Why bagging is done?
(A) O To avoid self-pollination
FI-IXMET0T H §91 & Tolw

(B) @ To prevent contamination from foreign pollens (Correct Answer) (Chosen
option)

AMET TETOT § HEHOT &1 Ut & forw
(C) O To avoid cross-pollination

qR-OXET0T & §9 & T

(D) O To get desired pollination
FifSd TRIeTOT 9o adel & forT

Question No.56 Marks: 1.00
Bookmark
Which of the following instrument is used for measuring soil strength?

fHET & ALY S AT & foiv Arafef@d 7 & fovar 3ueior &1 39ier forar Srar g2
(A) O Hydrometer

EEILI
(B) O Thermometer

YATHRY

(C) ® Penetrometer (Correct Answer) (Chosen option)

UaterHleT

(D) O Dynamometer
SRIATAIAIET

Question No.57 Marks: 1.00
Bookmark
Rajmata Vijayaraje Scindia Krishi Vishwa Vidyalaya (RVSKVV) is situated at
in M.P.

AT eranTs e Sy faeafaearey, (mdiuaddid) HET
geer 7 fRua g1
(A) O Bhopal

Aol

(B) ® Gwalior (Correct Answer) (Chosen option)
Taifer]

(C) O Tikamgarh
[ACTAEI [

(D) O Jabalpur
oldelU{

9

Question No.58 Marks: 1.00
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Bookmark
Yellow Revolution is related to

el hifer J e gl
(A) O egg production
38T 3cure=t
(B) @ oil seed production (Correct Answer) (Chosen option)
CEEICEICC
(C) O potato production
3Tef hT 3cHTesT
(D) O jute production
sl &l 3cUlcet

Question No.59 Marks: 1.00
Bookmark

Which of the following is the cause of Grassy shoot disease of Sugarcane?
fFFafe 71 & Fia-ar o= & ariE s)ieE (A ) a1 1 HROT 572
(A) @ Bacteria (Correct Answer) (Chosen option)

Siaroy

(B) O Fungus
chdch

(C) O Virus
farsoy

2

(D) O Mycoplasma

HISPICATSHT

Question No.60 Marks: 1.00
Bookmark

Crop Ecology means:
wHe TR foen & 3737 g &:
(A) O Relationship of crop plants to their cropping system
el el ST 3eTeh] HaeT JUTel T Teer
(B) @ Relationship of crop plants to economic factors (Chosen option)
e Gl T 3T RSP T FaeT
(C) O Relationship of crop plants to their distribution
el Uit &7 3eTeh faaor & Heer
(D) O Relationship of crop plants to their environment (Correct Answer)

HH Gl FT 3978 TATEI0T T Feler

Question No.61 Marks: 1.00
Bookmark

Identify the odd one.

fwar & g

(A) @ Inbreeding Depression (Correct Answer) (Chosen option)
sl fEar ByerET

(B) O Heterosis

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html 50/62



2/18/2021 View Question Paper

fayHdT (geUtaE)
(C) O Hybrid Vigour
EIEESCCIN
(D) O Outbreeding Enhancement
N S

Question No.62 Marks: 1.00
Bookmark
The causal organism of powdery mildew is:

GET T (M3 Hesy) 71 FReT e B
(A) O Nematode
AHACIS
(B) O Virus
daray
(C) O Bacterium
Siarg

]

(D) ® Fungus (Correct Answer) (Chosen option)
Shdsh

Question No.63 Marks: 1.00
Bookmark
Use of crop rotation for the reduction of pest population/pest attack is a
method.

FIe HTEIET / SIei & gHel Tl B Fla & Tol¥ Ha el IhUT I 3UATT Uh

fafr gl
(A) ® cultural (Correct Answer) (Chosen option)
AiEHias

(B) O chemical
e IR IEED

(C) O physical
siifcrehr

(D) O mechanical
RIEED

Question No.64 Marks: 1.00
Bookmark
Which one of the following minerals are required for the synthesis of chlorophyll?

FARITRS & TLAW0T & [T Trafafld # & frg @ierst &1 3maedehd gidr 872
(A) @ Iron (Correct Answer) (Chosen option)
T
(B) O Nitrogen
glEMEE]
(C) O Calcium
Car e
(D) O Phosphorus
mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html 51/62




2/18/2021 View Question Paper

BERRY

Question No.65 Marks: 1.00

Bookmark
Under which of the following system, the succeeding crop is sown before the harvesting
of the present standing crop?

et 7 & fore TuTell & T8, aciHTeT H o FH T Hers F Ugdl 3edcll B
STl 87
(A) O Crop rotation
el dsh
(B) O Crop diversification
TH fafaefeIor
(C) @ Relay inter-cropping (Correct Answer) (Chosen option)
(D) O Sequential cropping
g5 et

Question No.66 Marks: 1.00

Bookmark
is the major oilseed crop grown in Madhya Pradesh.

FHE T2  FIME S ATl 7 FeleTgedl Bl &

(A) O Rapeseed

gdis
(B) ®@ Soybean (Correct Answer) (Chosen option)

Arreie
(C) O Mustard

et
(D) O Til (Sesame)

IGENGE))

Question No.67 Marks: 1.00

Bookmark
Hot water treatment of wheat and barley seed is useful for control of

g 3R it 3 ST 1 I A 3TN & fogaoT & forw 393l &1
(A) O powdery mildew

gfoter AT (Ar3sd fAesy)
(B) O cover smut

3G %3 (Hal THT)

(C) @ loose smut (Correct Answer) (Chosen option)
T F3 (T TAC)

(D) O rust
ST (TEe)

Question No.68 Marks: 1.00
Bookmark
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Golden rice can mitigate the deficiency of
Taul aad T FHHT FI H I Th g |
(A) O Calcium
HieaTH
(B) O Vitamin C
Ferfaa C
(C) O Vitamin D
faerfA=T D
(D) @ Vitamin A (Correct Answer) (Chosen option)
Raffr A

Question No.69 Marks: 1.00
Bookmark

Nandini is a hybrid tea type popular variety of:
Afesh & Th T T TR FT AT R g
(A) @ Rose (Correct Answer) (Chosen option)

EIGIE)

(B) O Marigold
Jrer
(C) O Gladiclus

ECIERICr: ]
(D) O Jasmine
SrHHT

Question No.70 Marks: 1.00
Bookmark

Which crop is most effective in controlling soil erosion?
el REs I AT el & [T leT-TT Bael Fadt FeTdl 572
(A) ® Red gram (Correct Answer) (Chosen option)
dTel 9T (33 ITH)
(B) O Wheat
g
(C) O Cotton
FU
D) O Jute
S

o

Question No.71 Marks: 1.00
Bookmark

The National Rural Health Mission (NRHM) was launched by the Hon'ble Prime
Minister in the year .

TS ATHIOT TR AT (THAHRTITH) & AT el FHAT gy ag H
i Teha araT &)

(A) ® 2005 (Correct Answer) (Chosen option)
2005
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(B) O 2000
2000

(C)O 2003
2003
(D) O 2010
2010
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Question No.72

Which one of the following is the first gene sequenced crop?

fArfaf@a # § Fia-11 575 JA] (Si1) IghiAdT Bad §7?

(A) @ Rice (Correct Answer) (Chosen option)
Tdel
(B) O Wheat
T
(C) O Maize
HeFehl
(D) O Bajra
EUCRIE

Marks: 1.00
Bookmark

Question No.73

Leaf rust of wheat is caused by fungus.

I 7 ik T &deh & HROT EIdT &
(A) ® Puccinia (Correct Answer) (Chosen option)

qihiaar

o2

(B) O Ustilago
ssfeeeren

(C) O Pseudomonas

TgEAEY

(D) O Tilletia
fefecar

Marks: 1.00
Bookmark

Question No.74

(A) O Water logging
STel 0T

(B) O Water shed
T AT

(C) O Crop logging
T dlfaeT

(D) ® Water harvesting (Correct Answer) (Chosen option)

S g9

is the collection and storage of water for subsequent use in dry period.

Yo el F Ifedcll 3T & TorT el &7 Tare 3iR T3ROT |

Marks: 1.00
Bookmark
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Question No.75 Marks: 1.00

Bookmark
Which of the following technique reduces soil erosion, evaporation, kinetic energy impact
of rain drops?

frfof@a 7 & Sla-dr qeeiie e $r wers, arsdaor, ariver Fr gei @ a1fcer Fait &
TG T HH AT &2
(A) O Multiple cropping
TehTTeeh Bl
(B) @ Mulching (Correct Answer) (Chosen option)
AfeTT
(C) O Jhum cultivation
A Tl
(D) O Strip cropping
qgT e

Question No.76 Marks: 1.00

Bookmark
The common character of Indian Agriculture is economy.

HIAT T BT WA AR (i) FITaEAT |
(A) O Land scare - Labour scare
S I ST - HH HT
(B) @ Land surplus - Labour surplus (Chosen option)
S HRIAT - 437 AT
(C) O Land surplus - Labour scare
I A - HH HT ST
(D) O Land scare - Labour surplus (Correct Answer)

S{0 T ST - 4 AR

Question No.77 Marks: 1.00

Bookmark
Which one of the following is the aim of Integrated Pest Management?

fAFATITE # & hieT-AT Uehlehcl shic Fatlsl I 323 572
(A) O Strengthening the host
UIYeh (B1EC) FT Teelel
(B) O Increasing natural enemies of the pest
et & wrepfere grE=il &I gie Le
C)® Kett_api;lg pest populations below injurious levels (Correct Answer) (Chosen
option
g TRl & A1 FIE HTEIET FY IGAT
(D) O Billing the pests
hICT &l ANEAT

Question No.78 Marks: 1.00

Bookmark
For areas terracing is an affective method of soil conservation.

&Y T WEIER ATaAT, FeT HIGTUT ohT Teh FATT il & |

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e 1EASDiISSpS+rQ9hTxRC1w==_html 55/62




2/18/2021 View Question Paper
(A) O plain
HersAr
(B) ® hilly (Correct Answer) (Chosen option)
LEE]
(C) O desert
e
(D) O riverine
e i

Question No.79

is the quickest method of plant breeding.
e ToteTel T o T T3y &
(A) @ Mutation (Variation} breeding (Correct Answer) (Chosen option)
ScaRade (Freeran) geree
(B) O Selection
qeT
(C) O Introduction
i
(D) O Hybridization
HEOT

Marks: 1.00
Bookmark

Question No.80

method involves the use of living organisms to control pest population,
faffr & et i 3Ty & @R e & o sifaa Siar r 3gier enfaer
gl
(A) O Cultural
HiEhids

(B) O Physical
sitferehr

(C) @ Biological (Correct Answer) (Chosen option)
sifaw

(D) O Mechanical
EIEED

Marks: 1.00
Bookmark

Question No.81

Slash and Burn Agriculture means:
Tl 3T ool TS by A §:
(A) O Rainfed agriculture
auT 3T HY
(B) O Potato cultivation
3Te] T Welr
(C) O Rice cultivation
mppeb_kkkv.onlineregistrationform.org:8660/QP1/e 1EASDISSpS+rQ9hTxRC1w==_html
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TTdel Sl WdT

(D) ® Jhum cultivation (Correct Answer) (Chosen option)

S dr @t

Question No.82 Marks: 1.00

Bookmark
What is Green GDP?

et SIS T 57

(A) O Net value of GDP after discounting the cost incurred due to man-made
destruction

ATeTa AT fammer & HRoT @< H AT 7 g F a1 Sherdy F Hae e

(B) @ Net value of GDP after discounting the money earned by NRI (Chosen option)
TANRINS GaRT o & 7 T & a1g ML 7 fo¥aed Ao

(C) O Net value of GDP after discounting the cost incurred due to natural calamities

HTehfeleh 3TUET3IT & FHOT Wel I o197 H T o aTe Sierar ol foael Hed

(D) O Net value of GDP after discounting the cost incurred due to environmental
degradation (Correct Answer)

TATERiE §TX0T & FROT W HT AN 7 Fe & 918 Shsrdl 71 foga 777

Question No.83 Marks: 1.00

Bookmark
Which of the following erosion is characterized by presence of Finger like structures?

frafaf@d 7 & wia-ar 3r9es, 39relt ot T3 S avg Hisg glar §7?
(A) O Gully erosion
3TAeATToIehT 3TURGaT

(B) @ Rill erosion (Correct Answer) (Chosen option)
Rer 3r9veeT

(C) O Splash erosion
EHT RS

(D) O Sheet erosion
e e

Question No.84 Marks: 1.00

Bookmark
The pH of acid soil can be raised by adding .

JrFelr fRET & dioa Rt Sorar ST TFar g
(A) O potassium sulphate
GIERITH Hethe

(B) @ lime (Correct Answer) (Chosen option)
AT

[N

(C) O urea
i

o

(D) O sand
e)
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Question No.85 Marks: 1.00

Bookmark
is the father of the peasant (farmer) movement and also the founder of Kisan
Sabha.

e (RRETET) JTETeeT & STeteh & 31 Tt @9 & HeaTTe off 81
(A) O Swami Vivekananda
Tart faderee
(B) Swami Sahajanand Saraswati (Correct Answer) (Chosen option)
TaTHT Hestlelg EXEadl
(C) O Mahatma Gandhi
HeTcAT andr
(D) O Sardar Vallabhai Patel

TIER SocldT3TS Ul

Question No.86 Marks: 1.00

Bookmark
Which one of the following is the cause of Corn smut?

fo=faf@a & O Fia-ar A% #7 #3 (Fie7 TAT) FT HROT §?
(A) O Ustilago Hordei
et gsr
(B) O Pyricularia oryzae
TSR RAT 3RTAT
(C) ® Ustilago maydis (Correct Answer) (Chosen option)
e AlRY
(D) O Ustilago tritici

e s

Question No.87 Marks: 1.00

Bookmark
Organic soils are deficient in

Sifaes R & &7 AT AT B
(A) O nitrogen
glEaED)
(B) O organic carbon
FTelfaleh Flaet
(C) @ copper (Correct Answer) (Chosen option)
HIIY
(D) O iron
3L

Question No.88 Marks: 1.00

Bookmark
Which of the following colour tag is used for Certified seeds?

JHIUIT S1il oh [T fodeATol e 3 T -3 13T T 3T SUANT bl oIl 87
(A) O Red
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)
(B) O Purple
dareiy
(C) @ Blue (Correct Answer) (Chosen option)
e
(D) O White
Hhg

Question No.89 Marks: 1.00
Bookmark
Madhya Pradesh ranks first in India in production of

HET T & 3cUTesT H R 7 Ugel T W g
(A) ® soybean (Correct Answer) (Chosen option)
ieicic
(B) O wheat
R
(C) O maize
HeFhT
(D) O rice
BICES

Question No.90 Marks: 1.00
Bookmark
In plants, photosynthesis takes place in

gt 37 wepTer HeerwoT H g gl
(A) O endoplasmic reticulum
3ol TeeaT STforehr
(B) O golgi body
Tesil STaT
(C) ® chloroplast (Correct Answer) (Chosen option)
FARITATES
(D) O nucleus
e

Question No.91 Marks: 1.00
Bookmark
Helicoverpa armigera is an important pest of

gfolgiamefar S e AR e gl
(A) O rice
didel
(B) O wheat
T
(C) O maize
Herehl
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(D) ®@ gram/bengal gram (Correct Answer) (Chosen option)

AT/ AT

Question No.92 Marks: 1.00
Bookmark

Which of the following is the largest and most important soil group of India?
=TT # & hl=-AT 8- T & 937 3R T AgeayoT Hal THE 82
(A) O Laterite soil

TS Har
(B) O Black soil

FTell 372
(C) @ Alluvial soil (Correct Answer) (Chosen option)

ECICE G
(D) O Peaty and marshy soil

e 3R gergel Fer

Question No.93 Marks: 1.00
Bookmark

Soil conservation is a process where soil is
T TETOT Ueh Hishdl §, ST81 Hal gl
(A) @ protected from erosion/loss (Correct Answer) (Chosen option)
Feralgrer & geiara el
(B) O aerated
arfaed g
(C) O made infertile
o gl Sl
(D) O drained out
98 STl

Question No.94 Marks: 1.00
Bookmark

Pusa Ratna is a variety of
qaT TesT &I U fhEA E
(A) ® mung bean (Correct Answer) (Chosen option)
UKo
(B) O bajra
CISE
(C) O rice
dTdef
(D) O wheat
EIFS

[N

Question No.95 Marks: 1.00
Bookmark

plays a major role in energy storage and transfer of ADP into ATP
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molecules.
TET 3707, TSI o GEATTROT 31X Sl HSROT # ek Ty Sf et fovetrar
gl
(A) ® P (Correct Answer) (Chosen option)
P
(B) O Mo
Mo
(C)O Mg
Mg
(D)O Fe
Fe
Question No.96 Marks: 1.00
Bookmark
Cabbageisa___ vegetable.
Jearefioss 0 "@esl gl
(A) ® winter (Correct Answer) (Chosen option)
wet (Fe)
(B) O perennial
IREARIT
(C) O summer
I (FFR)
(D) O biennial
AGEURED
Question No.97 Marks: 1.00
Bookmark
Apple is normally planted at a spacing of
VS AT T & 3e O ST ST &
(A O IMX 1M
1T X 1HT
(B) @ 4M X 4M (Correct Answer) (Chosen option)
4FYeT X 47T
(C)O 2M X 2M
27T X 2T
(D) O 6M X 6M
BHIEY X 6T
Question No.98 Marks: 1.00
Bookmark
What do you mean by Poster?
GReY T 3T T AT 67
(A) O Audio-Visual Aid
- Helddh
(B) ® Non-projected Visual Aid that sticks on a wall or board (Correct Answer)
(Chosen option)
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IR-3TATAT TT HETIH I Toh &R AT &S 0T e Sre g1
(C) O Projected Visual Aid

ITHATIAT T HETTH
(D) O Audio Aid

HTT TEIITH

Question No.99 Marks: 1.00
Bookmark
Organization looks after the credit needs of agriculture and rural
development in India.

HaTST R H HIT 3T AT fGohrar 1 3T TTTRATIHT T ST FIAT
gl
(A) O sBI
THAITE
(B) @ NABARD (Correct Answer) (Chosen option)
CICIES
(C) O FCI
THHITS
(D) O ICAR

HEETIR

Question No.100 Marks: 1.00
Bookmark
Why Black soil is ideal for cotton cultivation?

HURT T Tl & e el Az 77 3meer g2

(A) O ltis sandy soil
Ig Ycilell fAST 81

(B) O ltis black in colour
g 7 H Frell g B

(C) ® It can retain moisture (Correct Answer) (Chosen option)
AW AH TTHEIR 1@ TFl 2

(D) O ltis found on plateau regions

Tg IoRT T3] WX 9T SArdr gl
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